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' | HEEER English version
HEEER English version J\ |; | shrink the original length.
I find tfhe Iengtrfw next to the far place, From the reduced figure, | examine the original length.
| see from the front. | see the place which intersects slantingly, draw it closer in the PESTR A - . S _ .
front and think as a small figure. First the lengthwise length of the other side is Slmllarlty ratio is Orlglnal Flgure- miniature = 10?"‘%- 1#
T?wTﬁm| b of the olace of O mark in i The lendh of the /. mark | measure the length of the Omark and A mark.
understand the length of the place of O mark in this way. The length of the /A marl .
Is 5441, think in miniature. Then | understand the length of Omark is 5+, the length The length of theO mark is the 50H], the length of the
Of Amark is 5.4 I in miniature. Using “tameawase’, the length of beside is found /\ mark is 54[#].
that 21 in miniature. So | understand that the length of beside is 20[4] in far place. . . .
Also the length of the Amark is 54111, the length of ! is 63.5[%.In miniature , the So the length of the O mark is 5+ in miniature, the length of the
Fgﬁ%qmmfraﬂ' When the length of besid db A mark is 5,41 in miniature.
s 5.4+ the length of ! is 613. 5 43.When the length of beside measured by using . . .
“tameawase”, | found it is 1#‘9; in miniature. So | understand 19[#]. It was 2~F when measuring the length of BC at trlangle ABC in
[J When the mark is 52[#], There are 5 2 [#]* in the microcosm, because it was a 9 miniature.
47 and measure the length between the A mark in the same way as until now, the . _ .
Ianth of the opposite is 9[#] understand. 10 F“EJ o1 ﬂ‘* X:2 ﬂ‘
Also, there is a place to become a triangle, which is also on expressed in microcosm, X=20 F',—,E]
similarly left 11[#], right 15[#], the remaining sides are estimated to be 9[i] and. . . .. .
[ it is 52[#] the half mark, Y« because towards the mark is 43[#], and the remaining Therefore: the Iength Isa ZOFEﬁ in the Orlgmal flgure-
one side is found to 17[#]. . . .
Y¢ mark is 43, A\ because towards the mark is 39[#], and the remaining one side is To _ﬁnd the Iength using this me_thOd X
found to 181, This method can be measured in any city. 1% &K
This approach does not change in any town. .. .
Itis important to take the larger town widely Figure in front. B =AL When you measure a large town, miniature also increases.
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I demanded the distance that the town wanted to know by expressing a | performed Japanese translation of the original, and, besides, it was very hard to make
certain distance with measure reduction, the whole of the town as a English translation. ' ' '
reduced drawing in this native mathematics of Japan using tameawase and When a technical term of the native mathematics of Japan came out to the most serious
using the similarity ratio. rm' Wi d dth ing of the ph d | checked i
People of the Edo era make full use of mathematics before life in the same d?cc;::nr;?;:;ad rec:g ::d E:ZZZS:' the meaning ot the phrase and | checked itin 2 S e
way as the present age, too, and the method for the distance is one using When the present mathematics consisted because a modern mathematical thought ?Ai%(iéﬁfﬁn Tk
this resemblance, too. | came in the present age, and the mathematics closely resembled it with an old person simply because there was native mathematics of Kﬂif];unigﬁ(s)ﬁuu
brought richer life while being tied to the life of people from ancient times. Japan, | keenly realized it. ST Ad1730
I understood that | affected it in the present age even if the form changed to Because interest came out to native mathematics of Japan through this experience, | BE . FR R
some extent. Afio)ﬁﬁﬁ thought to untie it wh|{e keeping this time afllve if there would be native mathematics of Author MASHIO
i Japan and an opportunity to be concerned in future. Tokiharu
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Because | have hung time considerably because | was able to go on reading it without foreseeing a conclusion though | know it what it is to want to demand, | want to
understand the thing which | foresee the whole from next, and wants to demand it earlier.
In addition, there was the part which | pushed forward by a supposition by all means because an answer was not clear. The mathematical thought was identified as the
use of the resemblance, but after all it was difficult to do living language reason, English translation exactly. Therefore | think that it becomes the future problem to think

after adopting information more.
ME:#H




